Applications of Sequences: :’,/20“
Simple & Compound Interest
Simple interest is only paid on the principal (initial

investment) and can be modelled as an arithmetic
sequence.

Many GICs (Guaranteed Investment Credits)
calculate interest in this way.

Ex.1 $2000 is invested in a 5-year GIC that pays 2.1%
per year, calculated annually. What is the value
of the investment when it matures?
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In general,

A=P+ Prt where A s the final amount
P is the initial investment
(or principal)
r is the rate of interest
tis the term (time)
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Compound interest is earned on both the principal as
well as any interest earned as the investment grows.

It is now important to consider the compounding period,
which is how frequently interest is calculated, as well as
the rate of interest (usually quoted per annum, or year).

Savings accounts will generally pay this type of interest.

Ex.2 $5000 is invested for 10 years at 1.5%,
compounded annually.
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In general,

A=P(+r)" where Ais the final amount
P is the principal invested
ris the rate of interest
Lo sb per compounding period

Pineipal n is the number of

compounding periods
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Ex.3 Compare the following investment options:
(a) 9 years at 6% per annum, compounded semi-annually
(b) 9 years at 5.95% per annum, compounded monthly
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When people invest, they are generally interested in the
present value and future value of the investment.

Knowing one allows the other to be calculated:
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Ex.4 To buy a house 3 years from now, a down payment
of $70000 will be required. How much needs to be
invested now, at 5.25%/a, compounded monthly, to meet
this goal?
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